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F—L% NUAGE WIZARD F—v XM k)yF—X IEH % = ||IEdz
x|1 — 2 |x|1 — 2102 - 1 23 1 - 2 |-
Noil 2 — 6 |No1[{3 — 6 |[Nol| 6 — 4 BEBEIVr 4 — 5 |-
NUAGE 3
No2[ 6 — 2 |No2| 1 — 6 |No2/ O — 6 BRS—L |33 — 41 |-8
No.3| 3 — 6 |No3| 6 — 4 |No.3| 6 — 1 BERT—LE 0.4459
Ol2 - 1 x|1 — 2102 — 1 2308 2 — 1|1
Noll 6 — 2 Noll 2 — 6 |Noi|1 — 6 BEREI |5 — 4 |1
WIZARD 2
No2[ 2 — 6 No2l 4 — 6 |No2| 6 — 0 BRy—L |39 — 37| 2
No3| 6 — 3 No3| 6 — 4 |No3| 6 — 4 || B%Y—LE 0.5132
Ol2 — 1102 - 1 Ol2 — 1 fsEL 3 — 03
. . No.1| 6 — 3 |No.l1| 6 - 2 No.1| 6 — 0 BERRAUF 6 — 3 3
F—L v XM ‘ 1
No2| 6 — 1 [No2| 6 — 4 No2| 6 — 3 BrRTY—L |48 — 31 |17
No3l 4 — 6 |No3| 4 — 6 No3| 4 — 6 || 8%~y —L= 0.6076
X | 1 - 2 x |1 - 2 x | 1 - 2 fER 0 — 3 |-3
R Noll 4 — 6 |Noi| 6 — 1 |Noll O — 6 BrRar |3 — 6 |-3
bJyHE—X \ 4
No2l 6 — 0 |No2l 0 — 6 |No2/ 3 — 6 BRY—L 30 — 41 [-11
No3[ 1 — 6 |No3| 4 — 6 |No3| 6 — 4 BRT—LE 0.4225
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